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20283 =& 3 2 JIEtSESH &M (2l ®R)

20 22 - FHAL - HAAA(Z]H]) Ol &F o4 lE o Hnsz ==
=S Al 71,136,421 70,082,455 1,053,966 1.50%
MY 67,433,949 68,085,817 651,868 A0.96%
MREs 3,573,826 1,899,438 1,674,388 88.15%
HHE 2 ZH 128,646 97,200 31,446 32.35%
Lot SAH 1,392,046 810,000 582,046 71.86%
ot 1,392,046 810,000 582,046 71.86%
MHees(0leidetge ) 1,392,046 810,000 582,046 71.86%
WRAHHXIS(XLLESESH ) (AGLNHES 1,392,046 810,000 582,046 71.86%

3IHI)

23 61,466,076 61,986,176 /520,100 2N0.84%
a0t - =2 61,466,076 61,986,176 /520,100 A0.84%
g2 = ¢EAE 35 9,289,429 9,29%,698 AT,269 20.08%
AT A (M=S AL SESH) 9,289,429 9,29%,698 AT,269 A0.08%
ot==2l HMExc 52,127,676 52,640,507 A512,831 A0.97%
St At (St A SE3IH) 3,143,218 3,154,808 211,590 A0.37%
FEIONS AL (RN SEEIH) 48,984,458 49,485,699 A501,241 A1.01%
HRES(=TAIHL) 48,971 48,971 0 0.00%
SBENE(EMLELSIH) 48,971 48,971 0 0.00%
NEIEN 170,619 170,619 0 0.00%
I=ME2 130, 152 130, 152 0 0.00%
NASS dEoHy K& 130, 152 130,152 0 0.00%
=220 X (A=SHELSA) 130, 152 130,152 0 0.00%
FAHSKS 40,467 40,467 0 0.00%
HRas(=e=I ) 40,467 40,467 0 0.00%
BEIE(QZSHELESIA) 40,467 40,467 0 0.00%
A - SATIHRUE X 2,092,342 1,000,000 1,092,342 109.23%
MHES - D3t 2,002,342 1,000,000 1,092,342 109.23%
Heas(ZH) 2,002,342 1,000,000 1,092,342 109.23%
WEHAXIS (MR 22 SLESIAH) 2,092,342 1,000,000 1,092,342 109.23%
WNSA=EF 597,333 664,333 267,000 A10.09%
Hsus - =FSIIE 597,333 664,333 267,000 A10.09%
WSHH =E 597,333 664,333 267,000 A10.09%
FRAEALSLS A (=IH AL S L) 597,333 664,333 267,000 A10.09%
SELX SR 5,289,359 5,354,127 ABA, 768 A1.21%
ANSH Al 461,777 461,777 0 0.00%
A2 A2AAMS 461,777 461,777 0 0.00%
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